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(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
13010072V A [y 16,005
130100|7 W A Tz 10,530 0| 10,260 10 1,728 648
13010072V A & 145 0 145 10 1,080 540
130100|7 W A &I 1,410 0 1,410 10 1,080 702
13010072V A RI& 1,560 0 60| 10
130340 ICA LA HE 10,800
130340 ICA LA & 3,340 0 3,340 10 2,700 432
130340 ICA LA h= 5,980 0 5,980 10 3,240 1,188
130400| 1% 5 iy 258
1304001 5 Eix 230 0 230| 10 7,020 2,376
130600|1LA Z A iy 1,105
130600{1 A T A Ee 1,105 0 1,105 5 4,320 756
131100|H 3 iy 24,200
131100| B3 ZRIE 17,000 15,500 15 2,430 540
131100 B3 ML 600 600| 15 1,080
131100{B % fi 1Ly 6,600 6,600 15 2,322
131700|F v+ R [y 35,860
131700(%F v~ =5 20,530 19,135 10 1,836 864
131700(%F v ~ & 7,830 7,830 12 1,080 756
131700(%F v~ I 2,550 2,550| 10 1,188 864
131800(IF S MAE [y 1,152
131800(1F 5 WA E FfE 290 216 741 0.2 119 78 65
131800(IF S NWAE &6 585 0 585 4.5 3,240 2,430
131910|F & HE 998




131910(Fh & PN 28 0 28| 0.5 702 324
131910(F R & B[] 265 0 265 1 540 324
131910(Fh & ) 305 0 305| 10 3,780 3,564
131950(A R & e 3,300

131950(B A& Ik 1,680 0 1,680 6 2,160 1,512
131950|H A & HE 240 0 100 5 1,944

131950(H & BSE 950 0 516 3 1,728 972
131950|H A & Ao 150 0 150 3 1,134

133400(L % 2 et 18,374

133400(L % % R 2,000 0 2,000 4 756

133400(L % 2 FE 11,960 0 7,760| 10 1,836 540
134100|#A/1 e 13,070

134100 |#8/1 S 1,720 0 1,720 5 1,620 864
134100|#A/1 &) 865 0 865 5 1,782 864
134100 |#8/1 iR 1,115 0 1,065 5 1,836 1,242
134100 (&A1 = 1,825 0 490 5 1,512 1,188
134100 |88/ =l 4,480 0 3,550 5 1,944 972
134100|#A/1 BRS 195 0 195 5 1,296 1,242
134200|m I et 2,500

134200|FE /M —a1—-Y—-5vF 2,500 0 2,000 10 2,160 1,512
134300 (%6 7 et 6,522

134300|50F = 646 646 2 918 432
134300 (%6 7 Syt 3,871 3,391 0.3 130 76
134300(#6F £=1iA 1,878 1,824 0.3 140 119
134400| k< k et 3,062

134400| k= k FE 153 153 972

134400| k< k KRG 1,076 1,076 1,512 1,404
134400| k= b+ BE 1,402 1,402 1,620 1,188
134500| " — < > e 7,914

134500| &’ —~< >~ =40 999 0 990 0.15 86 76




134500 "=~ ~ = I 6,785 6,317 0.13 76 65
135100| W A LT A TeE

135100 W AT A BRS 40 40 2 2,592 1,944
135200|%= ToE

135200|%= wE 36 36 1

135300 &"— X TeE

135300|— X ZAN 40 40 2 2,700 2,376
135300 &"— X & 64 64 4 3,780 2,484
1361001 A L & ¥

136100(AA L & I 6,080 6,080 5 3,240 756
1361001 A L & wE 1,715 1,470 5 1,728 648
136200|%#%& ¥

136200| %5 BERE 3,540 3,540 10 4,007 2,225
136600|7z & TeE

136600|7- & & 8,800 8,800 10 2,916 864
136600|7z & =i 1,000 1,000 10

138100 L Wizl ¥

138100({& L W /o lF i 1L 116 116] 0.05

138100|& L W7zl wE 657 551 0.2 248 86
138500(L® LE ToE

138500| L& LE K% 1,147 997 0.2 86 79
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28 os e MR (k) 1% #YFE RS E]
a—F AH HYSE | ExERE| | Bfike | BEF) | #ERA) | REMA) | SEFE) | PEE | REE)
241260 HE A M A Eoe= 500
241260|HE AN A BRE 500 0 350 10 3,456 2,916
242320(> aFa3—IL K |#E 1,110
242320 a3+ d— kK | BH 1,110 0 1,100 10 5,184 4,104
2428303 LW AT Eoe= 1,420
242830|.5 LW AT 55 1,420 0 1,260 10 5,184 3,780
242850(E#M Y A Z Eoe= 1,090
242850|EM N A Z B 1,090 0 760 10 5,616 4,860
243950( U Eoe= 66
243950( U K& 66 0 50 0.2 810 691
246000({\ 5B & Eoe= 3,034
246000|L B & B 137 0 1371 0.25 346 216
246000(\ 5B & I 380 0 339] 0.25 432 162
246000|L B & & 908 0 828 0.26 422 248
246000({\ 5B & = 128 0 128] 0.25 422
246000|L B & K& 775 0 7751  0.25 432 162
246000({\ 5B & REAS 698 0 691| 0.25 302 173
247100| 7 — L2 X A v |##K 594
247100| 77—/ R A A v ) 595 0 595 9 15,660 7,020
287420\ 7 v T A A O |#E 60
247420\ 7 v F A A AV B3 25 0 0 5
2074207 v T2 ARY | HE 35 0 0 5
2474917 A v — X O N 80
2474910 A4 v — X B ik 30 0 15 5 4,536




| 247491|7 4 v > —x 0] ek | | 50] 0| 50 5 | | | | | 4536




